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Functions and Graphs

Here’s a weird optical illusion. It’s not an animated picture but your eyes create the illusion of
movement. Focus on one of the black dots.
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FUNCTIONS

Day # cans recycled Lbs of aluminum
M (7500) 300

T 8000 315

W 7000 285

T (75005 310

F 8500 340

IS THIS A FuNcTION? VO

WHICH IS THE DEPENDENT VARIABLE?
Lbs of Aluminam
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Summary of Domain. 4 cases.
Restrictions on the domain occur when:

1. Variable in the Denominator
Looks Like:
To Solve: X -0

2. Variable Under the Radical
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To Solve: XE O
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Evaluate each for f(-3), then state the domain and range for each.
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Find the domain algebraically. Use a graphing calculator fo find the range and fo
verify your answer for the domain.
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In text, pg 89: 59, 63, 67, 69
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